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PREVIEW QUESTION BANK
Module Name : cec24-hs16 Agricultural Geography -ENG
Exam Date : 18-May-2024 Batch : 09:00-12:00
Sr. | Client Question . . Negative
Q Question Body and Alternatives Marks M%i ks

No. ID

Objective Question
1 14111001 2.0 0.00
The word Agriculture is derived from

1. Greek
2. Latin
3. Roman
4. Arabic
Al:1
A2:2
A3:3

A4:4

Objective Question

2 14111002 2.0 0.00
Which of the following is not an Agro-climatic region of India?

1. East Coast plains and Hills

2. The Eastern plateau and Hills
3. The Western Ghats

4 The Trans Ganga plains
Al:1

A2:2

A3:3

Ad 4

Objective Question
3 14111003 2.0 0.00
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Given below are two statements:

Statement (1): David Ricardo developed a theory of agricultural land use and land rent based on differences in the fertility of
land.

Statement (l1): Alfred Weber s considered as the founder of modern location theories.
In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.

2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (II) is false.

4 Statement (1) is false but Statement (Il) is true.

Al:1

A2:2

A3:3

Ad 4

Objective Question
4 14111004 2.0 0.00
What is monoculture?

1. Single crop production per year
2. Two crops production per year
3. Four crops production per year
4 Three crops production per year
Al:1

A2:2

A3:3

Ad 4

Objective Question
5 14111005 2.0 10.00
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Arrange the following sources of irrigation as per the descending order of their irrigated area in India?

(A). Tube wells and Wells
(B). Canals
(C). Tanks

(D). Other sources

Choose the correct answer from the options given below:

1. (A), (B), (C). (D).
2.(B), (A), (C), (D).
3. (B), (A), (D). (C).
4.(C), (B), (D), (A).
Al:1
A2:2
A3:3
A4:4

Objective Question

6 14111006

Which one of the following is related to tribal economy?

1. Intensive cultivation
2. Foot loose industry

3. Perking and quarrying
4. Shifting cultivation
Al:1

A2:2

A3:3

Ad 4

Objective Question

7 14111007
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Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) - J. C. Weaver recognized that, in almost every farming system several crops are grown in combination.
Reason (R) : Only very rarely does a single crop assume complete dominance.

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4_(A)is false but (R) is true.

Al:1

A2:2

A3:3

Ad 4

Objective Question

8 14111008 2.0 0.00
Which of the following state has the highest percentage of its agricultural area under canal irrigation?

1. Madhya Pradesh

2. Jammu and Kashmir
3. Uttarakhand

4 Uttar Pradesh

Al: 1

A2:2

A3:3

Ad 4

Objective Question
9 14111009 2.0 0.00
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Match List-l with List-ll

List-l

List-ll

(Salt tolerance)

(Fruit crops)

(A). High tolerance

(). Pomegranate

(B). Medium tolerance (). Tamarind
(C). Low tolerance (). Banana
(D). Susceptible (IV). Mango

796_16_S1_cec24_hs16_1-50.html

Choose the correct answer from the options given below:

1.(A)-
2.(A)-
3. (A)-
4. (A)-

1), (B)-(In,
i, (B) - (),
), (B)- (I,
111y, (B) - (IV

C)-
C)-

(
(
(C)-
),

— e

Al:1

A2:2

A3:3

A4 :4

Objective Question
10 14111010

(C)-

(D) - (V)

(D) - (Ill)
(D) - (Il

(1), (@) - (i)

Which of the following is the most cultivated crop in India?

1. Wheat

2. Jowar

3 Pulses

4 Rice

Al:1

A2:2

A3:3

Ad:4

Objective Question
11 14111011
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Golden revolution refers to

1. Sericulture

2. Horticulture

3. Viticulture

4 Floriculture

Al:1

A2:2

A3:3

A4 :4

Objective Question

12 14111012

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) - Assam grows maximum tea in India.

Reason (R) : Cheap tribal labour is available

796_16_S1_cec24_hs16_1-50.html

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

3. (A) is true but (R) is false.

4_(A)is false but (R) is true.

Al:1

A2:2

A3:3

Ad 4

Objective Question

13 14111013

Given below are two statements:

Statement (1): Subsistence agriculture means the production of crops for self consumption and not for the market.

Statement (1) The subsistence farming areas consume all of the products locally grown.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (1) and Statement () are incorrect.
3. Statement (1) is correct but Statement (1) is incorrect.
4 Statement (1) is incorrect but Statement (11) is correct.

Al:1
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A2:2

A3:3

A4 :4

Objective Question
14 14111014 2.0 0.00
Which of the following country is the largest producer of fruits and vegetable in the world?

1. Canada
2 USA
3. Pakistan
4 India

Al:1
A2:2
A3:3
A4 :4
Objective Question

15 14111015 2.0 0.00

Given below are two statements:
Statement (1): The markets, which are held only for a few hours are called short period markets.

Statement (Il): The products dealt with in short period markets are of a highly perishable nature, such as fish, vegetables,

milk and flowers.
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (I1) is incorrect.
4 Statement (1) is incorrect but Statement (1) is correct.
Al:1

A2:2

A3:3

A4 :4

Objective Question
16 14111016 2.0 0.00
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HYV stands for

1. High Yield Variety
2. High Yellow Variety
3. High Yielding Veterinary
4 High Yielding Vaccine
Al:1
A2:2
A3:3
Ad 4
Objective Question

17 14111017 2.0 0.00

Whittlesey has identified how many agricultural systems of the world?

1.23
2.13
3.12
4.1

Al:1
A2:2
A3:3

Ad:4

Objective Question

18 14111018 2.0 0.00
is the largest producer as well as the consumer of pulses in the world.

1. Brazil
2. USA
3. China
4. India
Al:1
A2:2
A3:3

A4 :4

Objective Question
19 14111019 2.0 0.00

file:///C:/Users/Administrator/Downloads/796 16 S1 cec24 hs16/796 16 S1 cec24 hs16 1-50.html 8/23



5/20/24, 11:32 PM 796_16_S1_cec24_hs16_1-50.html

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) : Indian agriculture is no longer the gamble of the monsoon.

Reason (R) : There are recent explorations of dry farming in India.

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4_(A)is false but (R) is true.

Al:1

A2:2

A3:3

Ad 4

Objective Question

20 14111020 2.0 0.00
Which of the following crop is used for large scale supply and demand in international market?

1. Millets
2. Rice
3. Wheat
4 Tea
Al:1
A2:2
A3:3

Ad 4

Objective Question
21 14111021 2.0 0.00
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Which of the following are important plantation crops?
(A). Tea

(B). Rubber

(C). Paddy

(D). Coffee

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C)and (D).

4_(B), (C)and (D) only.

Al:1

A2:2

A3:3

Ad 4

Objective Question

22 14111022

WTO was established on

1. 1%t January 1995
2. 5M January 1995
3. 1%t January 1990
4. 8" March 1995
Al:1

A2:2

A3:3

Ad:4

Objective Question

23 14111023
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Match List-l with List-ll

List-l List-II

(Whittlesey's Agriculture Region ) (Name of the Country)
(A). Commercial dairy farming (). Magnolia

(B). Commercial grain farming (II). Srilanka

(C). Nomadic herding (II1). New Zeland
(D). Commercial plantation (IV). Argentina

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2.(A) - (1), (B) - (I), (C) - (), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (liry
4.(A) - (1), (B) - (IV), (C) - (1), (D) - (IN)
Al:1
A2:2
A3:3
Ad:4

Objective Question

24 114111024 2.0 0.00

is called the “King of Fruits™

1. Mango
2. Guava
3. Apple
4. Citrus
Al:1
A2:2
A3:3

A4:4

Objective Question

25 14111025 2.0 0.00

file:///C:/Users/Administrator/Downloads/796 16 S1 cec24 hs16/796 16 S1 cec24 hs16 1-50.html 11/23



5/20/24, 11:32 PM

Muskmelon grows in

1. Rabi season

2. Kharif season

3. Zaid season

4 Between Rabi and Zaid season
Al:1

A2:2

A3:3

A4 :4

Objective Question

26 14111026

Match List-l with List-ll
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List-l List-Il

(State) (Known as)

(A). Assam (). Largest sugarcane producing state
(B). West Bengal (). Largest tea producing state

(C). Karnataka (). Largest jute producing state

(D). Uttarpradesh (IV). Largest silk producing state

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2.(A) - (1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (1V), (D) - (1)
4.(A) - (1), (B) - (IV), (C) - (1), (D) - (IN)
Al:1
A2:2
A3:3
Ad 4

Objective Question

27 14111027
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Which of the following is an example of a natural pesticide?

1. DDT

2. Heptachlor
3. Chlordane
4 Rotenone

Al:1

A2:2

A4 :4

Objective Question
28 14111028 2.0 0.00

Which of these are kharif crops?

(A). Cotton

(B). Groundnut

(C). Rice

(D). Wheat

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C)and (D).

4_(B), (C)and (D) only.

Al:1
A2:2
A3:3
A4:4

Objective Question

29 14111029 2.0 0.00
Which of the following describes a system of agriculture, where a single crop Is grown on a large area?

1. Shifting agriculture
2. Plantation agriculture
3. Horticulture

4 Intensive agriculture

Al:1
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A3:3
A4:4

Objective Question

30 14111030 2.0 0.00

Which of the following are the popular crop combination in Punjab and Haryana ?
(A). Paddy

(B). Wheat

(C). Maize

(D). Sugarcane

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A)and (B) only.
3. (A), (B), (C)and (D).

4_(B), (C) and (D) only.

Al:1l
A2:2
A3:3
A4 4

Objective Question

31 14111031 2.0 0.00

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) - The regur soil of deccan plateau are black in colour.

Reason (R) : It contains lot of humus.

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4_(A)is false but (R) is true.

Al:1

A2:2

A3:3

Ad 4

Objective Question
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32 14111032 2.0 0.00
Mixed farming means

1. Growing more than ane crop in the same field in the same season
2. Combining crop production with livestock raising
3. Combining crop production with horticulture
4. Growing more than one crop in a year
Al:1
A2:2
A3:3
Ad 4
Objective Question

33 14111033 2.0 0.00

Operation flood is associated with

1. Green Revolution
2. White Revolution
3. Black Revolution
4 Pink Revolution
Al:1

A2:2

A3:3

Ad:4

Objective Question
34 14111034 2.0 0.00
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Match List-l with List-ll

796_16_S1_cec24_hs16_1-50.html

List-l List-ll

(Plant group) (Growing area)

(A). Oxalophytes (1). Acidic soils region
(B). Halophytes (II). Saline soils region
(C). Psammophytes (lI1). Sandy soils region
(D). Lithophytes (IV). On rock's surface

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2.(A) - (1), (B) - (I), (C) - (), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (liry
4.(A) - (1), (B) - (IV), (C) - (1), (D) - (IN)
Al:1
A2:2
A3:3
Ad:4

Objective Question

35 14111035

Intensive subsistence agriculture is mainly practiced in

1. Densely populated regions
2. Sparse populated regions
3. Low populated regions

4 Very low populated regions
Al:1

A2:2

A3:3

A4:4

Objective Question

36 14111036
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The first scientific attempt for the delineation of agriculture system was made by

1. Herbert Renely

2. W.M. Davis

3. Derwent Whittlesey
4 Huntington

Al:1

A2:2

A3:3

A4 :4

Objective Question
37 14111037 2.0 0.00
The highest milk producing country in the world is

1. USA

2 Brazil

3. India

4 Denmark

Al:1

A2:2

A3:3

Ad:4

Objective Question
38 14111038 2.0 0.00

Which of the following are known as horticulture crops?
(A). Grapes

(B). Banana

(C). Cashew

(D). Jowar

(E). Hemp

Choose the correct answer from the options given below:

1. (A), (D) and (E) only.
2. (A), (B) and (C) only.
3.(B), (C) and (D) only.
4 (C) only.

Al:1
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A2:2

A4:4

Objective Question
39 14111039 2.0 0.00

Which of the following factor plays important role in landuse variation?

1. Capital

2 Science and technology

3. Topography

4. Labour

Al:1

A2:2

A3:3

A4 :4

Objective Question

40 14111040 2.0 0.00
Urea contains % of Nitrogen.

1. 51
2. 75
346
4.93
Al:1

A2:2

A3:3

Objective Question
41 14111041 2.0 0.00
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Given below are two statements:

Statemnent (1): A wholesale market is one in which commodities are bought and sold between traders.

Statement (1) Retail market is one in which commodities are bought and sold to the consumers.
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (ll) is incorrect.
4 Statement (1) is incorrect but Statement (1) is correct.
Al:1

A2:2

A3:3

Ad 4

Objective Question

42 14111042

Which of the following region is known for largest commercial dairy farming?

1. Western Europe and New Zealand
2. Canada

3. Australia

4 Southern Africa

Al:1

A2:2

A3:3

Ad:4

Objective Question

43 14111043
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Match List-l with List-ll

List-l List-Il
(Countries) (Crops)

(A). Malaysia (). Pineapple
(B). Brazil (I1y. Rubber
(C). Cuba (IlN). Coffee

(D). Hawai (IV). Sugarcane

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
2.(A) - (1), (B) - (1), (C) - (), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (1V), (D) - (1)
4.(A) - (1), (B) - (IV), (C) - (1), (D) - (IN)
Al:1
A2:2
A3:3
Ad:4

Objective Question

44 14111044

Floriculture means

1. Cultivation of wheat

2. Cultivation of tea and coffee

3. Rearing of cattles

4 Farming of flowers and foliage plants
Al:1

A2:2

A3:3

Ad:4

Objective Question

45 14111045
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NREGA stands for

1. National Rural Employment Guarantee Act
2. National Rural Energy Guarantee Act

3. National Rural Education Guarantee Act
4 National Rural Environment Guarantee Act
Al:1

A2:2

A3:3

A4 :4

Objective Question

46 14111046
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Which of the following country is the largest producer of coffee in the world?

1. India

2. Brazil

3. Colombia

4 China

Al:1

A2:2

A3:3

Ad:4

Objective Question

47 14111047

Given below are two statements regarding to diversification in India.

Statemnent (1): It relates to shifting in the cropping pattern.

Statement (l1): It relates to shifting the workforce from agriculture to other allied activities like livestock, poultry and fisheries.
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (ll) is incorrect.
4 Statement (1) is incorrect but Statement (1) is correct.

Al:1

A2:2

A3:3
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A4:4

Objective Question
48 14111048 2.0 0.00
Which of the following is not a form of shifting cultivation?

1. Jhuming

2 Bush fallow

3. Slash and burn agriculture
4 Nomadic herding

Al:1

A2:2

A3:3

Ad 4

Objective Question

49 14111049 2.0 10.00
Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) - Agriculture productivity refers to the sum total of land productivity, labour productivity and capital productivity.
Reason (R) : All these components are factor of production.

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A)is true but (R) is false.

4 (A)is false but (R) is true.

Al:1

A2:2

A3:3

Ad:4

Objective Question

50 14111050 2.0 0.00

Which of the following is an important paddy cultivation region?

1. Western Europe
2 Northern Africa
3. Australia

4 Southeast Asia

Al:1

A2:2
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A3:3

A4:4
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